Directions: Please fill in all fields. Once completed, either print and drop off this application to the First Selectman's office located at 127 Norwich Ave, Colchester, CT 06415, or save a copy and email to ARPA@ColchesterCT.gov. If you have questions please email ARPA@ColchesterCT.gov. Please include any additional documentation you feel would help in the application process. Submit only one project per application (submit mutliple applications if you have multiple proejcts).

Important: Applicant must demonstrate that the funding use directly addresses a negative economic impact of the COVID-19 public health emergency.

	Applicant Background In	iomiailon	
The state of the s	Sean Shoemaker	e e esperante de la compa	10/27/21
	firechief@colchesterct.gov	English (Koje droja)	860-207-6870
garta (22) Security (1915)	Colchester Hayward Fire Departme	nt	
	Project Details		
	New Apparatus Equipment	Tables Marie de pilonia (1961) deser B	6/1/2022
(42 33 2 2 32 401 12 0 00 0 3 2 2 3 2 1 1 1 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0	\$ 184,500	តែការបាក់ដែលមិនកំពង់កំពង់ក្រុមទទួក ទី នៃនេះម៉ូលី ទីនៅកែរទែលមិនប៉ុន្តែក	
en digi baj sadapa dipadi Nashi saran kaban mala Mada baja da kaba sadah		ded immediately it will all paratus in 2022.	need to be acquired

These funds will be used to purchase all of the portable equipment for the new fire apparatus. This equipment includes two (2) sets of battery powered extrication equipment that would have possibly made a difference at the recent accident that took the lives of two young residents.

10-29-21A11:23 RCVD

Due to the Covid-19 pandemic, funds for public safety equipment normally purchased through Capital Improvement funding have been limited in order to reduce the financial impact on our citizens. While the limiting of those funds has enabled the town to reduce overall spending the needs of the fire department keep increasing due to continuing community development. This request for funding will be used to replace aging equipment without having to to use what is anticipated to be limited capital improvement funds in the foreseeable future.

Sandistration of the Charles of the Control of the

This purchase is a continuation of the fire departments efforts to modernize it is equipment to better serve the residents of the community. Also, by using this funding mechanism it prevents two (2) things from happening; 1) borrowing money over a period of twenty years for equipment that is not expected to last that long. If we borrow money to pay for this equipment it will need to be replaced before being completely paid for, 2) by using ARPA funds this equipment will not need to be paid for by Capital Improvement funding which will help keep the annual budget lower.

Not approving this request could greatly impair the operations of the fire department if other funding sources can not be identified and used.

Budgeted Item / Service	Budge ted Amount	a Notes:
Apparatus Equipment	1	See attached breakdown.
	\$ •	
	\$	
	\$	
	\$	
	\$	
	\$	
	\$	
	\$	
	\$	
	\$	
TOTAL:	\$	

	Colchester Fire Department NEW APPARATUS	Equipmen	Equipment List	
Qty		Per unit	Total cost	
10	Kocheck KS3 wrenches	\$17.00	\$170.00	
5		\$98.50	\$492.50	
5	W. hard an area halden V. 49.2 complete with 2 VS2's and 1	\$96.00	\$480.00	
18	Kocheck K01 Spanners	<u></u>		
24	2-1/2" chrome plated #653 tri-loc mounting plates. South Park	\$42.00	\$1,008.00	
6	Milwaykoo 2366 20 M18 ROVER Compact Lithium-lon Dual Power	\$180.00	\$1,080.00	
2		\$107.00	\$214.00	
3		\$235.00	\$705.00	
3		\$115.00	\$345.00	
		\$120.00	\$120.00	
1	The Hooks of Milliand Sir had given in a significant from the significan	\$135.00	\$405.00	
3	O THE GOOD STATE OF THE STATE O	\$130.00	\$260.00	
2	IN tool Nit lovedble chary kills	\$1,750.00	\$7,000.00	
4	Autori Braco Est, interest	\$263.00	\$2,367.00	
9	Elithart 2 112 7.0071, Hydram gate valles	\$203.00		
2	30K0525	\$648.00	\$1,296.00	
3	Elkhart RAM XD monitor. With 282-A – Mini stream shaper, 181-A deluge tip and 8296-MB truck mount bracket	\$3,550.00	\$10,650.00	
	UHMWPE seat with a full round metal ball. The shutoff shall have a 1-1/2" NH free swivel base with a 1-1/2" NH male outlet and a 1-3/8"	\$732.00	\$6,588.00	
9 6	waterway. Elkhart Model # ST-185-XD-CAFS, handline tips. This tip shall have a 1-1/2" female NH base with a 15/16" & 1-1/8"discharge. The construction of this tip shall be lightweight, Elk-O-Lite with a black rubber bumper and gasket. The tip shall have a knurling design at the end of the tip for ease of handling and grip.	\$335.00	\$2,010.00	
9	Elkhart Model #281A, Mini Stream Shapers shall be provided. This stream shaper shall be used in conjunction with an Elkhart smooth bore tip. The tip shall be of Elk-O-Lite construction with a 1-1/2" NH female inlet and 1-1/2" NH male outlet with replaceable acetyl vanes.	\$185.00	\$1,665.00	
4	Elkhart Model #B-375-GA, 2-1/2" ball shutoff and pistol grips shall be provided NH free swivel base with a 1-1/2" NH male outlet and a Quarter turn, ball valve, hand line shutoff with 1.375" waterway; it shall be constructed of durable, hard anodized, lightweight Elk-O-Lite; shall have rugged aluminum bronze horseshoe handle with double stops; shall have a double actuating full round metal ball shutoff with a UHMWPE seat; The shutoff shall have an integral smooth bore tip size 1 1/4" machined into the outlet of the shutoff body; The shutoff shall have an Elk-O-Lite pistol grip handle. The shutoff shall have a 2.5" female threaded Miami Dade Style swivel inlet and 1.5" threaded male outlet	\$825.00	\$3,300.00	
	Elkhart mini stream shaper shall have a replaceable Acetal vane with a 2.5" female inlet and 2.5" male outlet. The length of the stream shaper shall be 2.50" with a weight of 2.50 lb.	\$235.00	\$940.00	

2	EBFCC-28-D Rescue Combi Tool	\$9,325.00	\$18,650.00
2	ESLC-29D Rescue Cutter	\$9,000.00	\$18,000.00
5 2	Knox Keysecure boxes ES-100-28D Rescue Spreader	\$9,700.00	\$19,400.00
5		\$3,000.00	\$15,000.00
8	Akron Brass LDH intake relief Revolution 7982	\$2,100.00	\$10,500.00
5	Gemtor Poppier Ladder belts (2) S (2) M (2) LG (2) XL	\$235.00	\$1,880.00
5	Knox Keysecure boxes	\$1,500.00	\$7,500.00
5	Akron Brass model 7982 "Revolution Intake Valve" with (Swivel Elbow Inlet) for the main pump inlets 6" X 5" storz. 2550-V18BL08ACSP Supervac Positive Pressure vans 9,600cfm	\$2,050.00 \$4,989.95	\$10,250.00 \$24,949.75
2	Elkhart model B-97-A, gated wye, 2-1/2" F.NST x (2) 2-1/2" M. NST	\$1,850.00	\$3,700.00
4	Elkhart model B-100-A gated wye 2-1/2"NST F X (2) 1-1/2" NST M	\$325.00	\$1,300.00
1	Aluminum frame 3000 gallon Fol-Da-Tank, FDTA-3000-with 22 oz. yellow HPR® High Performance Rubber liner.	\$1,975.00	\$1,975.00
2	Kocheck LL60 Low level strainers with jet siphon	\$625.00	\$1,250.00
2	One (1) Elkhart model B-100-A gated wye 2-1/2"NST F X (2) 1-1/2" NST M.	1,095.00	\$2,190.00
1	Elkhart model B-97-A, gated wye, 2-1/2" F.NST x (2) 2-1/2" M. NST.	480.00	\$480.00
2	Kochek #TT60 6" Holley transfer tubes with 1 ½" swivel FM.	583.00	\$1,166.00
_	Kocheck 6" Power Jet Siphon (JS60)	166.50	\$333.00
2	Kochek #35R1515, 1-1/2" NST double female swivel	23.59	\$47.18
2	Kochek # 35R151, 1-1/2" NST double male	29.60	\$59.20
2	Kochek #35R2525, 2-1/2" NST double female swivel	38.00	\$76.00
2	Kochek #36R2525, 2-1/2" NST double male	26.50	\$53.00
4	Elkhart 4000-24 Hand line nozzle tip. With a protective BLUE urethane bumper with a 1.5" female threaded swivel base. The nozzle shall flow 300 GPM @ 75 psi	\$1,175.00	\$4,700.00

\$184,554.63